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∫
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d∗
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A(y)(∇y + 2iπθ)ψn

)
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��Æ } � }Q��}Q� �r� � �|} �FÃ
(λn(θ), ψn(y, θ))
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θ
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ε(x) = ψn
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ε
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e2iπ
θ
n
·x
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k
� ��� } � ���Q�FÆ k�� � � ���H� � Á`� �F� � �H�F� q ��� ¿ ��Æ � � } ÇÆ ��� � �i�Å� � �r� � � Æp�H� q�� ��� � �Q� ¿ ��� �M� �B}Â� � �QÆ � �Q�F� � �U�Â� � ����� }Qq � � ���

d∗(x)
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��H�F�MÃF� Ã��� � ��� ÃF� ��� �F� � � ���Q�FÆ ÁU� k � k � �M� � � � ��� � ���rÆ 
U� q �H� ¿ � �
L∞(TN)

Á � �M� q �
d(x, y)

��Æ � � }Qq� � } Æ � � } 
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∫
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∫
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 } �FÃ�� �F} ��� � �Å�.ÃM� ��r� � Æ � }Qqfb�� � }Q��}Q� ��� � ��� �rÃ 
 � � �F�?�U� � ��� ÃF� �p� �l� � � �

A(y)
} �FÃ¯� �F�g�U� � �Å�.ÃF� � �U�Â� � ����� }Qq

c(y)
jºk�Y ��� � � � �@ÃF��Ã��F�Q� } Æ Æ�� � ��� � } �

θn
�;} Æ }+� ���M� � � � �U�H�Å��� Áf� �M�B� �r�FÆ�� �

A∗
n = 1

8π2∇θ∇θλn(θ
n)
� } � 
U� �F� ��� �F� � ÃF� � �F�Å���'�F� � �U�QÆ��Å�����Q�QÁ � �F� � � ��ÆB���F��� �Æ � � � � ��Æ ��� ¿�� � �`} �F�Â� ���Q�¯� � �B} Æ�Æ b 
F�M�`� �M��Æ �d}Q� � ��Æ � � q�q �F�MÃF� � Æ � � � Ã����ÐÆ�� q ��Ã�Æ � } � ��F� � Æ�� � Æ � N�x�� Á � NQP�� jºk

� �5���#��� 
 ��
  �=@ 0�2 @ � - � 
 �-0�@ � 6 0�. � .(3;6=. 0 .>�=@ ):2 + � @�! 0�2 " 0 ) G < 0�2 H <, 0�6�1$@/2 2-@/6 , @ + � @ @ @ � 2 � ��
 - � % � - ��� / � � 6@�-@ @&� .��=@ � @�,/?�+ ��� 35,�+$? .>�=@ 0�2:35@ � 0 )��=0 � 0&2-@/<6=3�4�+$.#350�6 � . +$.1@ .>� +$. .>�=@ �=0 � 0&2-@/6=3�4�@&� , 0�@�? ,/35@/6=. � +$2 @ 3;6@�-@17=@/6@�-@/6=.�0 ) .��=@ 3;6=3;.#3#+$?� +$.5+ % !8�-35,�� 3 � 6 0�.�.>�=@ ,�+ � @ �=@/2 @ �  �=@/2 @ 3 � 6 0 , 0�6=.#2�+;�$35,/.#350�6 3;6 0 � 2 2 @ ��� ? .
� 3;6 , @ H <�, 0�6�1$@/2 2-@/6 , @ �-0�@ � 6 0�.�+/7 79?4) '/@ ,�+ ��� @(! @�?�+-,�" + � 6=3 ) 0�2 � +�792:350�2:3 @ � .#3;<
� +$.1@ 3;6 L2((0, T );H1(RN))

) 0�2 .>�=@ � @
� � @/6 , @ 0 ) � 0�? � . 350�6 � uε % + � 2 @
� � 3;2 @&� '*)
H
<�, 0�6�1$@/2 2-@/6 , @ �
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� �5���#��� 
 ��� � �����5� 79.#350�6 + � � /�,�+$6 '/@ � ? 3 2$�-.#?4) ! @�+$" @/6 @&� ) 0�2 792 0$1�3;652  �=@ 0�2 @ �- � 
 � � 0�2 @�

+ � 79?�@ % 3;. � .#3;?;? �=0�? � � .#2 � @ 3 )�! @ � @/2 @/?4)(+ ������� @*.>� +$. u0
ε(x)e

−2iπ θ
n
·x

ε.�! 0�< � ,�+$?�@8, 0�6�1$@/2 2-@ ��� .#2 0�652$?4)�.10 ψn(y, θn)v0(x) �
� 6 .��=@'0�.>�=@/2 � +$6@� % 3 )�+ � � /�3 � 2 @179?�+-, @&�6'*)�.>�=@'@�1$@/6 ! @�+$" @/2 + �����5� 79.#350�6(.�� +$.

u0
ε(x)e

−2iπ θ
n
·x

ε

. ! 0�< � ,�+$?�@ , 0�6�1$@/2 2-@ � ! @�+$"�?4) . 0 ψn(y, θn)v0(x)
+ !8�-35,�� 3 � +$?4!�+7) �.#2 � @ � 7 .10 + ��� ' � @
� � @/6 , @./ % .��=@/6  �=@ 0�2 @ � - � 
 3 �,� .#3;?;? 1�+$? 3���792 0$1�3��-@&� .>� +$. 3;. �, 0�6 ,/? �;� 350�6 3 �(� 0*�$3 � @&� '*)�2 @179?�+-,/3;652 .��=@ � .#2 0�652 .�! 0�< � ,�+$?�@8, 0�6�1$@/2 2-@/6 , @80 ) vε '*)+ ! @�+$" .�! 0�< � ,�+$?�@�, 0�6�1$@/2 2-@/6 , @ �

� �5���#��� 
 ��� � 6 .��=@*,�+ � @ n = 1
+$6@�

θn = 0
+ '/0�.#. 0 � 0 ) .>�=@ � 2 � . ��?�0�,�� ' +$6@��/ % �=@ 0�2 @ � - � 
 � . 3;?;?��=0�? � � .#2 � @A3 ) ! @ +;�;��+'6 0�6=<1? 3;6 @�+$2�. @/2 � 0 ) .��=@ . ) 7=@ g(x, x

ε
, uε)!8�=@/2 @

g(x, y, ξ)
3 � + � +$2 +$.>�=@ 0*�-0�2�) ) � 6 ,/.#350�6 + 3 � @ � � @�+ ��� 2 +;'B?�@83;6 y ∈ TN

+$6@�
, 0�6=.#3;6 � 0 �;� 3;6 (x, ξ) ∈ RN×C

/ ��� ,��8.�� +$. g(x, y, 0) = 0 % .>�=@ 792 0*� � ,/. g(x, y, ξ)ξ3 � 2 @�+$? +$6@� �-@17=@/6@� � 0�6=?4)(0�6 .>�=@ � 0*� � ? ��� |ξ| % 3 � @ �
g(x, y, ξ)ξ = g(x, y, ξ ′)ξ

′ ) 0�2*+$6�)
|ξ| = |ξ′|,

+$6@�
g � +$.#3 ��� @ � � 0 � @ 2$2 0$! .>� , 0�6@�$3;. 350�6 ! 3;.>� 2 @ � 7=@ ,/.�. 0 ξ ��� � 2 � . @�

+ � 79?�@'3 � +

� 6=3 ) 0�2 � ?4) � 3>7 � ,��-3;.�4�) � 6 ,/. 350�6

|g(x, y, ξ)− g(x, y, ξ′)| ≤ C|ξ − ξ′|.

� � @ , 0�6@� @�

+ � 79?�@ 3 �
g(x, y, ξ) = g0(x, y)|ξ|

p−2ξ
! 3;.>�

g0(x, y) ≥ C > 0
+$6@�

p ≥ 2.

� 6 ��� ,�� + ,�+ � @ % 3;. 3 � ! @/?;? <3"�6 0$! 6 .>� +$. .��=@ 6 0�6=<1? 3;6 @�+$2 � ,��-2 �*�$3;652-@/2 @
� � +$.#350�6+;� � 3;. � + � 6=3 � � @ � 0�? � . 350�6 3;6 C ((0, T );H1(RN)
) !8�-35,�� � +$.#3 ��� @ � .>�=@ � + � @ +792:350�2:3 @ � . 3 � +$.1@ � 0 ) � @ �6� + - � � ����� �  �=@/6 % ��� 3;652 .>�=@ )�+-,/.10�2:3�4�+$. 350�6 792:3;6 ,/3>79?�@�+.-0/! @ 07'B.5+$3;6 + 6 0�6=<1? 3;6 @�+$2�@
� � +$.#350�68) 0�2 vε !8�-35,�� 3 � + 2 +$3;6 � 3 � 79?�@'. 0 �=0 � 0&2-@/6=3�4�@ � �=@,�=0 � 0&2-@/6=3�4�@&� @
� � +$.#350�6 3 � � 3 � 3;?�+$2 .10 + 
�
 / ! 3;.�� +$6 +;�;�$3;.#350�69+$?�6 0�6=<1? 3;6 @�+$2

4�@/2 0�<�0�2 �-@/2 . @/2 � !8�-35,�� 3 �
g∗(x, v) =

∫

TN

g(x, y, ψ1(y, 0)v)ψ1(y, 0) dy.

� 0$! @�1$@/2 % ! @,�-0 6 0�. "�6 0$! 3 ) ��� ,�� + 2 @ ��� ? . �=0�? � � . 2 � @ ) 0�2��-3 2$�=@/2�0�2 �-@/2���?�0�,��' +$6@� � n > 1 �
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� �
� ��� ��� �������	�
�5� 
 ��� � m �F��Æ`� � �.� � ��Æ`����� �F�?Æ��F� � �Å�`� � �H� � � � �/�.�Å�H�FÆ � � � Ç ��w��tk_ � � �F� } Æ�� ���F�r� � �
vε

 �
vε(t, x) = uε(t, x)e

−i
λn(θn)t

ε2 e−2iπ θ
n
·x

ε .Y �Å� � �
|vε| = |uε|

Á%
 � ���F� } � � ��� � � �rÆ ��� �¯} � �rÆp� �fV � �¯�¯}SwMk�L{� ��� } �H�
‖vε‖L∞((0,T );L2(RN )) + ε‖∇vε‖L2((0,T )×RN ) ≤ C,} �MÃ } �F� q�� �Å� ¿ ���F� � � � � }Q� ���F� Æ ÆJ� � � � � 	 Æ � }Qq � � �H� �H� ��¿ �r� � � b Æ � � RJ� �Q�U�HÆ �Å�����H� N.k wHj Á�F�©��� } Æ �%
FÆ � ���F� � � �QÁÂ� �F� � �J� � �ÅÆ � Æ };q � � �Å�

v∗(t, x, y) ∈ L2
(

(0, T ) × RN ;H1(TN )
)Æ � � ����� } �

vε
} �MÃ

ε∇vε
� � � 	 Æ � }Qq � � �H� �H� ��¿ � � �

v∗
} �MÃ

∇yv
∗
Á � � Æ���� � � ���H� q��HkY � � � qÀ}Q� qÅ� Á 
 � ÃF� � �F��� ���Q� � � � �F� �Å�F�Å��� }Qq Ã } � } Á

vε(0, x)
� � � 	 Æ � }Qq � � �H� �H� ��¿ �rÆÄ���

ψn (y, θn) v0(x)
k

� ��� � � � � � � � � � � � q � �Å� qÅ�'bZLOj 
 � � �F� � � � � q � ��� �H��� � ¿�} � ��� �
ε2φ(t, x,

x

ε
)ei

λn(θn)t

ε2 e2iπ
θ
n
·x

ε

� �F� � �
φ(t, x, y)

��Æ } Æ � � �Q� �@��� Æ � � �F� � � �Å�H��ÃF� � �F� Ã �H�
[0, T ) × RN × TN

Á � �Å� �� � � � }Q� �]Æ �F�F��� � �g���
[0, T ) × RN kJX ����� ¿H��} � �Å� ¿ 
 � � }Q� ��Æp� �F�ÅÆ � �Å� q ÃFÆ

iε2
∫

RN

u0
εφ

ε
e−2iπ θ

n
·x

ε dx− iε2
∫ T

0

∫

RN

vε
∂φ

ε

∂t
dt dx

+

∫ T

0

∫

RN

Aε(ε∇ + 2iπθn)vε · (ε∇− 2iπθn)φ
ε
dt dx

+

∫ T

0

∫

RN

(cε − λn(θ
n) + ε2dε)vεφ

ε
dt dx = 0.

R²} Æ�Æ ��� ¿ � �S� �M��� � � 	 Æ � }Âq � q � � ��� � ��� q ÃFÆ;���F� � }Q� � } � �Å�H� }Qq~� � ��� � qÀ} �����H�¯� �
−(
ÃF���

y + 2iπθn)
(

A(y)(∇y + 2iπθn)v∗
)

+ c(y)v∗ = λn(θ
n)v∗

�Å�
T
N .

" � � �F�ÐÆ�� � � q � � �Å� � � �
λn(θ

n)
Á ���F��Æ�� � � q ��� Æ?� � } �©���F� � �¯� � ��Æ ��Æ } Æ � }QqÀ}Â�i� �F� � �����H�

v(t, x) ∈ L2
(

(0, T ) × RN
) Æ � � � ��� } �
v∗(t, x, y) = v(t, x)ψn(y, θ

n).
b NQw�j

� ��� � 	�� � � � � � � � � � q ����� q�� b L j 
 � � �F� � � � � q � ��� �H� � � ¿�} ���{� �
Ψε = ei

λn(θn)t

ε2 e2iπ
θ
n
·x

ε

(

ψn(
x

ε
, θn)φ(t, x) + ε

N
∑

k=1

∂φ

∂xk
(t, x)ζk(

x

ε
)

)

L N



� �F� � �
φ(t, x)

�ÅÆ } Æ � � �Q���Ð��� Æ � � �F� � �����H� � �Å��� � � � � }Â� � Æ��F�F��� � �;���
[0, T )×RN

Á} �MÃ
ζk(y)

��Æ;� �M�{Æ � q �.� ���Q�@� �pb LOv�jºkJT?� � � � Æ�� � � }Qq�¿ �B
 ��}7� � � �H�F�FÃ�� � } �
∫

RN

Aε∇uε · ∇Ψεdx =

∫

RN

Aε(∇ + 2iπ
θn

ε
)(φvε) · (∇− 2iπ

θn

ε
)ψ

ε

n

+ε

∫

RN

Aε(∇ + 2iπ
θn

ε
)(
∂φ

∂xk
vε) · (∇− 2iπ

θn

ε
)ζ
ε

k

−

∫

RN

Aεek
∂φ

∂xk
vε · (∇− 2iπ

θn

ε
)ψ

ε

n

+

∫

RN

Aε(∇ + 2iπ
θn

ε
)(
∂φ

∂xk
vε) · ekψ

ε

n

−

∫

RN

Aεvε∇
∂φ

∂xk
· ekψ

ε

n

−

∫

RN

Aεvε∇
∂φ

∂xk
· (ε∇− 2iπθn)ζ

ε

k

+

∫

RN

Aεζ
ε

k(ε∇ + 2iπθn)vε · ∇
∂φ

∂xk b NÂx�jh � � Á � � �g} � � Æ � � �Q� � � � � � }Q� � q�� Æ��F�M�U� � � �rÃ'� �rÆ � � �M� � �����H�
Φ
Á � �{ÃF� ÃF� � � ��� � ����F��ÃF� � �M�Å� �Å�H�@� �

ψn
��� } �

∫

RN

Aε(∇ + 2iπ
θn

ε
)ψεn · (∇− 2iπ

θn

ε
)Φ +

1

ε2

∫

RN

(cε − λn(θ
n))ψεnΦ = 0,

btNHzHj
} �MÃ ��� � � ���F��ÃF� � �M�Å� �Å�H�@� �

ζk
∫

RN

Aε(∇ + 2iπ
θn

ε
)ζεk · (∇− 2iπ

θn

ε
)Φ +

1

ε2

∫

RN

(cε − λn(θ
n))ζεkΦ =

ε−1

∫

RN

Aε(∇ + 2iπ
θn

ε
)ψεn · ekΦ − ε−1

∫

RN

Aεekψ
ε
n · (∇− 2iπ

θn

ε
)Φ. b NQv�j^ � � 
F���F�Å� ¿ btNÂx�ji� ��� �¸� �F�Ð�Q���F� � � � ��� Æ�� � � �F� � }Q� � } � �Å�H� }Qq¬� � ��� � qÀ} �����H� � ��bZLOj Á� �?� } Æ�� qÅ�7� �F� � ÇS� � } �|� �F� �n� ÆZ� q ���M�p� � ��� Æ � � ¿ ���|� } �FÃÐÆ��ÅÃF� � } � � � q Æ �Q�M��
U� � } �FÆ �?� �b NHzHj � �Å���

Φ = φvε
Á } �FÃ ���F�7�M� � �W��� � �r� q �Å�F� Æ � } � � � q �H�.� 
�� � } �FÆ��7� �]b NQv�j;� �Å� �

Φ = ∂φ

∂xk

vε
k � �'� �F���Q� �M� � � } �FÃÔÁ � � � } �+� } Æ ÆW� �Ð� �F� q � � �Å�;���'��� � �r� qÀ} Æ �W��� � � Æ

LOw



� �;btN�x�jlk|c �Å� }QqÅqÅ� Á b L j;� � q ����� q ���rÃ 
 �
Ψε

� ��� q ÃFÆ }Â� � � � Æ�� � � q � �n� } � �Å�H�
i

∫

RN

u0
εΨε(t = 0)dx− i

∫ T

0

∫

RN

vε

(

ψ
ε

n

∂φ

∂t
+ ε

∂2φ

∂xk∂t
ζ
ε

k

)

dt dx

−

∫ T

0

∫

RN

Aεvε∇
∂φ

∂xk
· ekψ

ε

ndt dx

−

∫ T

0

∫

RN

Aεvε∇
∂φ

∂xk
· (ε∇− 2iπθn)ζ

ε

kdt dx

+

∫ T

0

∫

RN

Aεζ
ε

k(ε∇ + 2iπθn)vε · ∇
∂φ

∂xk
dt dx

+

∫ T

0

∫

RN

dεvεΨε dt dx = 0.

b N��Hj

R²} Æ�Æ ��� ¿ � �S� �M��� � � 	 Æ � }Âq � q � � ��� �Å�@� }Q� �Ä� � � � � �;btN��Qj ¿ ���Q� Æ
i

∫

RN

∫

TN

ψnv
0ψnφ(t = 0) dx dy − i

∫ T

0

∫

RN

∫

TN

ψnvψn
∂φ

∂t
dt dx dy

−

∫ T

0

∫

RN

∫

TN

Aψnv∇
∂φ

∂xk
· ekψndt dx dy

−

∫ T

0

∫

RN

∫

TN

Aψnv∇
∂φ

∂xk
· (∇y − 2iπθn)ζkdt dx dy

+

∫ T

0

∫

RN

∫

TN

Aζk(∇y + 2iπθn)ψnv · ∇
∂φ

∂xk
dt dx dy

+

∫ T

0

∫

RN

∫

TN

d(x, y)ψnvψnφdt dx dy = 0.b NQP�je � � }Qq�q ��� ¿ ���F���F� � �B}Qq ��� } � �Å�H� ∫
TN |ψn|

2dy = 1
Á } �FÃ������ � �.ÃF� � ��� ¿

2 (A∗
n)jk =

∫

TN

(

Aψnej · ekψn + Aψnek · ejψn

+Aψnej · (∇y − 2iπθn)ζk + Aψnek · (∇y − 2iπθn)ζj

−Aζk(∇y + 2iπθn)ψn · ej − Aζj(∇y + 2iπθn)ψn · ek

)

dy,b NQK�j} �MÃ
d∗n(x) =

∫

TN d(x, y)|ψn(y)|
2 dy
Á b NQP�j ��Æp�r���F��� }Qq � ���]� �

i

∫

RN

v0φdx−i

∫ T

0

∫

RN

v
∂φ

∂t
dt dx−

∫ T

0

∫

RN

A∗v·∇∇φdt dx+

∫ T

0

∫

RN

d∗(x)vφdt dx = 0
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� �F� � � ��Æ } �H� � �+� � } Ç � � � � � � ���F�y�F� � � ¿ � �F��� � Ã'� ��� } �����H� b NHNHjºkim �F� � � � � } � 	��
F� q �Å� ��� �H�FÃF��� �Å�H� � � � ��� } �����H� bZL��Hj;� � � � �F�7Æ�� � �H�FÃ ÃF� � ��� } � ���Q��� �
ψn
� ��� q ÃFÆ?��� } ����F� �B} � � � �

A∗
n

ÁnÃF� � �F�rÃ 
 � btNQKHj ÁF�ÅÆp���FÃF�r� ÃÄ� ��� }Qq ��� 1
8π2∇θ∇θλn(θ

n)
Á } �FÃ�� ���FÆ�ÅÆ`Æ � �¯� �r� � � �ÂkfTWq � �F�Q� ¿ �ÔÁ�� �M�g��� �FÆ � �

A∗
n

�ÅÆ ���HÆ Æ���
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L2 	 �M� ��� ��Æ � � } Ç q��iq � � � � Æ � � � 	Ë� �H��� �Å� �M�H�FÆ� ��� � � � Æ���� � �p� �y���F�W� � � 	 Æ � }Qq � � �H� �Q� ��¿ � � � � b Æ�� � RJ� �H�U�QÆ��Å�����H� LHk�v ��� ��N��Àj Á.� k � k ÁM������F��� � �rÆ�� ���?Æ��l��� �Å� ¿

lim
ε→0

‖uε‖L2((0,T )×RN ) ≥ ‖u0‖L2((0,T )×RN×TN ).m �F�g�F� � � RJ� �H���HÆ �Å� �Å�H� } Æ Æ�� � � Æ }�� � ��� � � � � � 	 � � �U� � �rÆ�� q � � �F� �B���F� } 
����Q�?�Å�F� ��� }Âq�	��� � � � � �FÆ]�H�M�]��� 
�� } ��� ��� }Qq �Å� �Qk
LOP



� �
��� ������������	 � ��� � @/.
(uε)ε>0

'/@ + � @
� � @/6 , @ 3;6 L2((0, T ) × RN)
!8�-35,�� .�! 0�<

� ,�+$?�@�, 0�6�1$@/2 2-@ � ! 3;.>�B�$2:3 ):. .10 + ? 3 � 3;. u0(t, x, y) ∈ L2((0, T )×RN×TN ) � �������5� @) � 2:.��=@/2'.>� +$.
lim
ε→0

‖uε‖L2((0,T )×RN ) = ‖u0‖L2((0,T )×RN×TN ).

 �=@/6 % 3;.�3 � � +$3�� .10�� � � 	 Æ � }Qq � � �H� �H� ��¿ �rÆ � �Å����Ã � � � �]Æ � � �H� ¿Hq�� +$6@��3;. � +$. 3 ��� @ �
lim
ε→0

∫ T

0

∫

RN

∣

∣

∣

∣

uε(t, x) − u0

(

t, x +
V

ε
t,
x

ε

)
∣

∣

∣

∣

2

dx dt = 0,

3 )
u0(t, x, y)

3 � ��� 0�0�.�� % � +7) u0(t, x, y) ∈ L2
(

(0, T ) × R
N ;C(TN)

) �
m �F�©� � �.� � Æ;� ��m �F�r� � � �DxFk Ny} �FÃ V � �Ð�¯}7xFk�w7� } � 
�� � �H�F�MÃ@��� ��NHN�� kJm � } �p� �RJ� �Q�U�HÆ �Å�����H� xFk x ��Æ } Æ�� � � q � } Ã } �M� } � ���Q�@� �½m �M� � � � � LHk�P ��� � N��tk
\ �MÃF� �J} Æ�Æ�� � �M�����H� bZLHL jÔ� �;��
M� } ���7���F� � � q�q � � �Å� ¿?¿ � �F� � }Qq ��� } � ���Q��� �Fm �F� � � � �wMk N.k

�������	�
��� � ��� � �����5� @'.>� +$. .>�=@'3;6=3;.#3#+$?�� +$. + u0
ε ∈ H1(RN)

3 � 0 ) .��=@ ) 0�2 �
u0
ε(x) = ψn

(x

ε
, θn
)

e2iπ
θ
n
·x

ε v0(x),
b wHK�j

! 3;.>�
v0 ∈ H1(RN) �  �=@ � 0�? � . 350�6 0 )6+.- � /(,�+$6 '/@ ! 2:3;. .1@/6 + �

uε(t, x) = ei
λn(θn)t

ε2 e2iπ
θ
n
·x

ε vε(t, x),
bdx�u�j

!8�=@/2 @
vε(t, x)

, 0�6�1$@/2 2-@ ��� .#2 0�652$?4) 3;6 .>�=@ � @/6 � @ 0 )?� � � 	 Æ � }Qq � � �H� �H� ��¿ �r� � � � �Å���Ã � � � �*. 0
ψn(y, θ

n)v(t, x) % 3 � @ �

lim
ε→0

∫ T

0

∫

RN

∣

∣

∣

∣

vε(t, x) − ψn

(x

ε
, θn
)

v

(

t, x+
V

ε
t

)
∣

∣

∣

∣

2

dx dt = 0,
bdxFLOj

+$6@�
v ∈ C

(

(0, T );L2(RN)
) 3 � .��=@ � 6=3 � � @ � 0�? � . 350�6 0 ) .��=@ � ,��-2 �*�$3;652-@/2 �=0 � 0&2$<@/6=3�4�@&�'792 07'B?�@ �







i
∂v

∂t
−
ÃM���

(A∗
n∇v) + d∗n v = 0

3;6
RN × (0, T ),

v(t = 0, x) = v0(x)
3;6

RN ,

b�x�NHj
! 3;.>�

A∗
n = 1

8π2∇θ∇θλn(θ
n)
+$6@�

d∗n =
∫

TN d
∞(y)|ψn(y)|

2 dy �
LOK



� �5���#��� � ��� � 0�2A.>�=@ ?�0�652-@/2 .#3 � @ � ,�+$?�@�0 )*@
� � +$.#350�6 +.- � / % .��=@ . 2 +$6 � 7=0�2:. @
� � +$<.#350�6 +.- 
 /(,�+$6 � .#3;?;?�'/@ � @ @/6 3;6 .>�=@�?�+$2 2-@��$2:3 ):. V/ε 0 ) ) 0�2 �6� ?�+ +�� � / �
� �
� ���(�����B� ���@�
�5� � ���=� m �F��� � � � � ��Æ©Æ � � � q�}Q� � �@� � } �©� � m �F� � � � � w.k�N@} �FÃRJ� �Q�U�HÆ �Å�����H� xFk�LHkWh ���Q� � ���F� q � Æ Æ Á � �yÃF���F�Â�i�FÆ �QÁ } Æ 
U� � � � �ÂÁ����F�y�FÆ � }Qq � � � 	 Æ � }Qq �� �H� �H� � ¿ � � � �8
F�.� ��} � �F� � ���F��� � � 	 Æ � }Âq � � �H� �H� ��¿ �r� � � � �Å� � Ã � � � � k X � } �F� Æ �WÆ ��� �ÔÁ

 �@� � q � �Å� qÅ� �Å� ¿@bdwHv�j 
 �Ä} � � ÆZ� � �F� � �����H�

ε2φ

(

t, x +
V

ε
t,
x

ε

)

ei
λn(θn)t

ε2 e2iπ
θ
n
·x

ε ,

� �F� � �
φ(t, x, y)

��Æ } Æ � � �Q� �@��� Æ � � �F� � � �Å�H��ÃF� � �F� Ã �H�
[0, T ) × RN × TN

Á � �Å� �� � � � }Q� �]Æ �F�F��� � �g���
[0, T ) × RN

Á � �{� � ���Q�{��� } �p� �M�{Æ � ���F�r� � �
vε(t, x) = uε(t, x)e

−iλn(θn)t

ε2 e−2iπ θ
n
·x

ε

� � � 	 Æ � }Qq � � �H� �H� ��¿ �rÆ � �Å����Ã � � � �p� � }Ðq � � �Å�
ψn (y, θn) v(t, x)

k m �F�r�ÔÁ���� } Æ � � �H�FÃÆZ� � � � � � � q � �Å� qÅ�'bdwHv�j 
 � � �M� � � � � q � �@� �Q��� � ¿�} ����� �
Ψε = ei

λn(θn)t

ε2 e2iπ
θ
n
·x

ε

(

ψn(
x

ε
, θn)φ(t, x+

V

ε
t) + ε

N
∑

k=1

∂φ

∂xk
(t, x+

V

ε
t)ζ ′k(

x

ε
)

)

,

� �F� � � ��Æ{ÃF��� � � � ��� ��� � � � �M�B� � ��� ���H�MÆ�� �rÆ � � �F� � �����H� b wHwHj 
 � � �F�
ε
�d}Q� ��� � Á¬� �F���� � �JÆ � }Âq �|� � ���F�`�F� } Æ �QÁ } �FÃ � �HÆZ� qÅ� � �F� qÀ}Â��¿ �JÃ � � � �¬���©���F� �¯}Q�r� �HÆ � �H�F� � � }Q� � } 
 q � kX ��� � ¿H� } � ��� ¿ 
 � � }Â� � Æ � ����� �Z� � ��� }Ð� � � �M�M� } �����H� � �M� � �Ä��Æ]��ÃF�r��� � � }Qq ���Ð��� } �]������F��� � �.� � � �?m �M� � � � � w.k�N � �M� � �M����� } �7� � �¸�F� � � � ��� Æ }Q� ��Æ�� } �FÃ � } � � � q �H�M�� �F}Â� � q�� Án� }Â� � qÅ� � �F�©� � ���

−
1

2iπε

∂λn
∂θk

∫ T

0

∫

RN

vεψ
ε

n

∂φ

∂xk
dt dx

� �F� � � � � � �rÆ ��� � � ���F�{�F� � �r��� } � �Å�H� btNQv�j Æ } � �ÅÆ � �rÃ 
 �
ζ ′k
Á } �FÃ�� �F�{Æ }Q� �©� � ���� ��� ���U�QÆ��Å�����Q�©Æ�� ¿ � � �M� � � }Q� �ÅÆ�� Æp�Å�@� �F��������� ¿H��} � �Å�H�(
 � � }Q� � Æ]� �

∫ T

0

∫

RN

i
∂uε
∂t

Ψεdt dx.

m �F� � � ÆZ�@� � � �M� � � � � � ��Æ } Æ��Å� m �F� � � � � wMk N Á]� � ��� ��ÃF�rÃ � �F�+�MÆ�� }Qq � � � 	 Æ � }Qq �� �H� �H� � ¿ � � � �S��Æ � �r� qÀ}Â� � Ã 
 � ���F��� � � 	 Æ � }Âq � � �H� �H� ��¿ �r� � � � ��� � Ã � � � � � �F� � � � � q �Å� Æ�H�@��� Æ � � �F� � � �Å�H�FÆ]� } � ��� ¿Ð}SqÀ}Â��¿ �©Ã � � � �p�Å�@� �F� �¯}Q� � �HÆ � �H�F� � � }Q� � } 
 q � k
2

NQu
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" � � � } � ¿ ��� ¿ � �F� �¯} �Å� } Æ Æ�� � �M�����H� �Q��� �F� " q � � � Æ���� � � � � � ���7�ÅÆ7���HÆ�Æ ��
 q �¯� ���
.� } �Å� }�� �H� � � ��� � ÃF� � �F� � � ¿ � �F��� � ÃS�r��� } � �Å�H�Ð���FÆZ� � } ÃÐ� � ���F�]�FÆ�� }Âq Y � � ��� ÃF��� ¿ � ��r� � } � �Å�H� k`Y ��� � � �n� }Qq�q��¯� � � �H�FÆ ��ÃF� �






iε2
∂uε
∂t

−
ÃF��� (

A
(x

ε

)

∇uε

)

+
(

ε−2c
(x

ε

)

+ ε2d
(

x,
x

ε

))

uε = 0
�Å�

R
N × (0, T )

uε(t = 0, x) = u0
ε(x)

�Å�
RN .b�x�w�je � �¯}Q� Ç���� } �?� �F�7��� � ��Æ � }Âq ��� ¿ ��� bdx�wHj ��Æg�F�Q�?� �F�7Æ }Q� ����� } �'��� } �i�Å� b L jls ���F��Æ� � } �MÆg��� } � � � }Q� � q � �HÇ���� ¿y� � �W} � } Æ � � �M���Q� � �©� � �]q �H� ¿ � � � � � ��� � � � ÃF� �
ε−2
���b�x�w�j Á � � � � }Q� �rÃ���� b L jlk¬X �FÆZ� � } Ã7� �ÔbZLOuHj Á � �`�F� � �¯} ÇÂ�|���F� � � q�q � � ��� ¿p} Æ�Æ�� � �M�����H�

{

(i) λn(θ
n)
�ÅÆ } Æ�� � � q �i� � ¿ � � � }Qq �M�QÁ

(ii) ∇θλn(θ
n) = 0,∇θ∇θλn(θ

n) = 0,∇θ∇θ∇θλn(θ
n) = 0,

b�xHx�j
� �F� � � � � } �FÆ�� � } �

θn
�ÅÆ } �l� �F� � Ã�� � ÃM� � � � � ��� � � }Qq ���H������� �

λn(θ)
k � �¯ÃF�+�F�Q�Ç��F� � � � } Æ�Æ�� � �M�����H� b�xHx�j ��Æ©Æ } � �ÅÆ � �rÃ � � ��} � � � � }Q� � � � }Qq � �M}Q� � q � 
F�M�{����Æ�� � � Æ

� � � } Æ �H� } 
 q � � k�\ �FÃF� �©} Æ Æ�� � �M� �Å�H� bdxQx�j ���F� �n� Æ ��� � ¿ � � � �H�F� q �7� �ibdK�j �ÅÆiÆ � � �Q� �} �
θn
k`e � � }Qq�q � � } � Á � � �

θ = θn
ÁF���F�©� � � �n� ÆZ�gÃF� � ��� } � ���H�rÆg� �

ψn
}Q� � ¿ ���H�r� 
 �

∂ψn
∂θk

= 2iπζk,
∂2ψn
∂θk∂θl

= −4π2χkl,
b�x�zHj

� �F� � �
ζk
�ÅÆ?���F�7Æ � q �M�����H� � �gb LOv�j]} �FÃ

χkl
��Æg� �F��Æ�� q �M� �Å�H�Ä� �?bZL��Qj�b�� � �¯}Q� Ç���� } ����F��Æ qÀ} ÆZ��� ��� } � ���Q� Æ�� � � q � � �rÆ¯Æ ��� � �

∇θ∇θλn(θ
n) = 0

jlk�Y � � � qÀ}Â��qÅ� Á`���F�'���F� � ÃÃF� � ��� } � ���Q�©��Æ
∂3ψn

∂θj∂θk∂θl
= −8iπ3ξjkl,

b�x�v�j
� �F� � �

A(θn)ξjkl = ejA(y)(∇y + 2iπθn)χkl + (
ÃF���

y + 2iπθn) (A(y)ejχkl)

+ekA(y)(∇y + 2iπθn)χjl + (
ÃF���

y + 2iπθn) (A(y)ekχjl)

+elA(y)(∇y + 2iπθn)χkj + (
ÃF���

y + 2iπθn) (A(y)elχkj)

+ekA(y)elζj + ejA(y)elζk + ekA(y)ejζl.

b�x
�Hj

m �F� � ��� � ��Æ ��Æ } �F�M�����F��Æ � q �M�����H� � �{b�x
�Hj Á½�F� � �'���F� } ÃFÃF�Å�����H� � �]}'� � q ����� q �Ð� �
ψn
k�X �MÃF� �rÃÔÁ²���F� � � ¿ ���{� } �MÃ�Æ��ÅÃF�Ð� ��b�x
�Hj Æ } ����Æ � � Æ�� �F� � �r���F� � � Ã � � � � } � ��
F� q �Å� �

N.L



� �H�FÃF��� ���Q� b � k � k �Å�]�ÅÆg� � � �M� ¿ �H� }Âq � �
ψn
j 
�� � } �FÆ � }QqÅq ÃF� � ��� } �����H�rÆ?� �

λn(θ)
Án�F� ������F� � ÃÄ� � ÃF� � Á }Q� �'� � � � } �

θ = θn
k

�������	�
��� � ��
 � �����5� @'.>� +$. .>�=@'3;6=3;.#3#+$?�� +$. + u0
ε ∈ L2(RN)

+$2 @ 0 ) .��=@ ) 0�2 �
u0
ε(x) = ψn

(x

ε
, θn
)

e2iπ
θ
n
·x

ε v0(x),
bdx�P�j

! 3;.>�
v0 ∈ H1(RN) �  �=@ � 0�? � . 350�6 0 )6+��	-0/(,�+$6 '/@ ! 2:3;. .1@/6 + �

uε(t, x) = ei
λn(θn)t

ε4 e2iπ
θ
n
·x

ε vε(t, x),
bdx�K�j

!8�=@/2 @
vε
, 0�6�1$@/2 2-@ �8� .#2 0�652$?4) 3;6 .>�=@ � @/6 � @�0 ) .�! 0�< � ,�+$?�@�, 0�6�1$@/2 2-@/6 , @ .10 ψn(y, θn)v(t, x)+$6@�

v ∈ C
(

(0, T );L2(RN)
) 3 � .��=@ � 0�? � . 350�6 0 ) .>�=@�) 0 � 2:.>�-<�0�2 �-@/2 �=0 � 0&2-@/6=3�4�@&�792 07'B?�@ �







i
∂v

∂t
+
ÃF��� ÃM���

(A∗
n∇∇v) + d∗n(x) v = 0

3;6
RN × (0, T )

v(t = 0, x) = v0(x)
3;6

RN ,

b zQu�j
! 3;.>�

A∗
n = 1

(2π)44!
∇θ∇θ∇θ∇θλn(θ

n)
+$6@�

d∗n(x) =
∫

TN d(x, y)|ψn(y)|
2 dy �

� �
� ��� � m �F��� � � � � ��Æ]Æ�� � � qÀ}Q� � �¯��� } �g� �Jm �M� � � � � wMk N Æ ��� � � � ��� } �Q�7� �F�{Æ }Â� �} � � ��� � �Ô� ÆZ� � �¯} ��� Æ } Æp�Å� V � �¯�¯}SwMk�LHkJm �F� �n� ÆZ�?ÆZ� �r� �ÅÆp��ÃF�r����� � }Qqts ���F��Æ��r� �M� � � �
vε = uεe

−i
λn(θn)t

ε4 e−2iπ θ
n
·x

ε ,� � � 	 Æ � }Qq � � �H� �H� ��¿ �rÆ²��� }pq � � ���
v(t, x)ψn(y, θ

n)
k²X �{� �F�|Æ � � �Q�FÃ7ÆZ� � � Á � � � � q � �Å� qÅ�b�x�w�j 
 � � �M� � � � � q � �@� �Q��� � ¿�} ����� �

Ψε = ei
λn(θn)t

ε4 e2iπ
θ
n
·x

ε

(

ψn(
x

ε
, θn)φ(t, x) + ε

N
∑

k=1

∂φ

∂xk
(t, x)ζk(

x

ε
)

+ε2
N
∑

k,l=1

∂2φ

∂xk∂xl
(t, x)χkl(

x

ε
) + ε3

N
∑

j,k,l=1

∂3φ

∂xj∂xk∂xl
(t, x)ξjkl(

x

ε
)

)

,

� �F� � �
φ(t, x)

�ÅÆ } Æ � � �Q���Ð��� Æ � � �F� � �����H� � �Å��� � � � � }Â� � Æ��F�F��� � �;���
[0, T )×RN

Á
ζk(y)

�ÅÆg���F�7Æ � q �M�����H�Ä� �gb LOv�j Á
χkl(y)

��Æ]� �M��Æ � q �M�����H�Ä� �gb L��Hj Á } �FÃ
ξjkl(y)

��Æ]� �M�Æ � q �M�����H��� ��bdx
�Hjºk²Tg� � � � Æ � � �|� �rÃF���Q�FÆ }QqÅ¿ �B
 � }p� � � } ��� } Æ�Æ¬� �g� �F�`� � � 	 Æ � }Qq � q � � ���} �MÃ � �FÃ } � }Q� � } �����H� }QqÂ� � � � � q�} � �Å�H�©� ��b zQu�j|b Æ � � ��w���� �F� � � } Æ � � � qÀ}Â� � � � �F�.� } �����H�
NHN



�ÅÆ¬ÃM�H�F� � � �¬} � }Q��} 
�� q � � Æ � Æ ��� �Bjlk � �`��
M� } ��� }g� �H� � � � 	 � � ÃF� � �F� � � ¿ �r�F���r� Ã�� �r�FÆ�� �� �F� � � �ÅÆ b �F��� ��Æ �.�Ð� �r� � ��� } � �Å�H� j
(A∗

n)jklm =

∫

TN

(

− Aψnem · ekχjl − Aψnem · (∇y − 2iπθn)ηjkl

+Aηjkl(∇y + 2iπθn)ψn · em

)

dy.

m �F� � � � � } � ��
M� q ��� �Ä� �H�FÃM�Å� �Å�H�¸� � � �F�Ð� ��� } �����H� ¿ ���.�Å� ¿ � �F� � �H� � � ��ÃF� � ��� } �����Q�Ð� �
ψn
Æ��M� � Æ;��� } � � �F�ÅÆ � �r�FÆ�� �

A∗ �ÅÆ }Q� � � }QqÅqÅ� �r� � }Qq � � 1
(2π)44!

∇θ∇θ∇θ∇θλn(θ
n)
k
2

� �5���#��� � ��� � 3 � 3;?�+$2:?4) ! @�, 0 � ? � �-@/2:3>1$@ + .>�-3;2 �$<�0�2&�-@/2 �=0 � 0&2-@/6=3�4�@&�*792 07'B?�@ � %3 )B! @ 2 @179?�+-, @ + �����5� 79.#350�6 +�� �7/ '*)(.>�=@ �5) 7=0�.��=@ � 3 � .>� +$. θn 3 � +�� � @ , 0�6@� 0�2 �-@/2��,/2:3;.#35,�+$? 7=0�3;6=.80 )
λn(θ) % +$6@� 3 ) ! @ ,�� +$652-@ .��=@ . 3 � @ � ,�+$?�@(3;6 +��	-0/ '*) ! 2:3;.#3;652

.>�=@ .#3 � @ �-@/2/3>1�+$.#3>1$@ + � iε∂uε

∂t
� � 0�2 @ 2-@/6 @/2 +$?;?4) % +$6�) p <�0�2&�-@/2 ,/2:3;.#35,�+$? 7=0�3;6=.80 )

λn(θ)
)�35@/? � � + p <�0�2&�-@/2(+ 3;6 � 7 +-, @./ �=0 � 0&2-@/6=3�4�@&�8@
� � +$.#350�6 �  �-3 � 3 � +6! @/?;? <3"�6 0$! 6, 0�6 � @
� � @/6 , @'0 ) .>�=@(� � +$? 3;. ),'/@/.�! @ @/6 �-@/2:3>1�+$. 3>1$@ � 3;6 .>�=@ 7��5) � 35,�+$? � 7 +-, @'+$6@� �6� ? <.#3>79? 35,�+$. 350�6 '*) � 0 � 2:35@/2 1�+$2:3#+;'B?�@ � + 0�2 � 0�2 @�792 @ ,/3 � @/?4)6�=@/2 @ ��?�0�,�� 1�+$2:3#+;'B?�@ � / �

� � �7¡ �{¢�£]¤@¥l¦;£]³ »��B» ¨�£]¡ �{ª £]µÐ¶Ä§©¨�¥l�7¤�»
X � � �F�ÅÆÐÆ � � � ���Q� � �'��� �Q� Æ ��� ¿�} � �@� �F� � } Æ � � ��} " q � � �!�r� ¿ �r�
� }Qq �F� � �F� � �5��Æ��F�Q�Æ � � � q � k!R � � Æ�� � }QqÅqÅ� Æ �U� } Ç���� ¿ �Å� � } � 
�� �Å����� � � � �l� � Ã } Æ }��r� �HÆ Æ��Å� ¿ � �W� � ÃF�rÆ km �F�¯Æ�� � � 	Ë� q�} Æ�Æ � � }Qqfq � � ���i� � � �F�ÅÆ{� � ��
 q � ��� ��� q ÃFÆ�� �M�¯Æ � 	Ë� }Qq�q � Ã V¬} �FÃ } � 	�� � � �F� �� � � � � q�} Á � � � � ��� q��y} � }QqÅ� �r� Ãy�Å� ��L w�� Á ��L x�� k � � � ÆZ� �FÃ � �ÅÆ½ÃF��� � � � ���½����� � � � �rÆ���� � � Æ kc � � ÆZ� �H� � Æ � }Qq �Å� ¿ �ÅÆ �F�Q� � � } �p� � Æ�� � � 	Ë�rqÀ} Æ Æ�� � }Qq~} � }ÂqÅ� Æ��ÅÆ k|Y � � �H�MÃ����F� �r� �HÆ Æ���� ¿ ��Æ� } � ¿ �r����� }Qq Á � k � k � �F�SÃ � � � �i� � �H� q � � �Å� � �H� � ��� � Æ

∇θλn(θ)
}Q� � } Æ Æ�� � � Ã ��� 
��y� �M�Æ }Q� � � � � � }Q� � � �.ÃF� kfm �yÆ�� � � q � � � ���F�W� � �U�HÆ �Å�����H� � � � �H�FÆ��ÅÃF� � } ���r� ¿ �r�
� }Qq �F�W� �� � q � �Å� q � � ��� � � � �MÁ 
M�M�©� �F� }Q� ¿ � � � ��� � � � Ç�Æ©� � � �H� ¿ � � � ��} � �+� � q � �Å� q � � �Å� �Qk � �� � � q�}Q� � } Æ�Æ � � �M� �Å�H� b LOu�j 
 � � �F� � � q�q � � ��� ¿ �H�M� s½� � �

n ≥ 1
Á � � � �Q�FÆ��ÅÃF� � }*" q � � �� }Â� }Q� �r��� �

θn ∈ TN
Æ � � � ��� } �























(i) λn(θ
n) = λn+1(θ

n) 6= λk(θ
n) ∀k 6= n, n+ 1,

(ii)
q � � }Qq�q�� �F� }Q�

θn, λn(θ)
} �FÃ

λn+1(θ)
� � � � � � �Æ � � �Q� �(
 ��} � � �F�rÆ?� � �r� ¿ �r�
� }Qq �F� Æ � ��� � � � � � �rÆ����H�FÃF�Å� ¿Æ � � �Q� �@�r� ¿ �r� � �F� � � ���Q�FÆ

ψn(θ)
} �FÃ

ψn+1(θ),
(iii) ∇θλn(θ

n) = ∇θλn+1(θ
n) = 0.

b z.L j

" � }8� �H� �H�r�F���r��� } 
F�FÆ �¸� �7q�} � ¿ � }Q¿ � � ��ÆZ� � q�q ÃF�r�F�Q��� 
 �
λn(θ)

} �FÃ
λn+1(θ)���F�¯� � � Æ � �.�Â� � b�q � � }QqÀj 
 � } � � �F� ÆS� � � � ¿ � � � }Qq �F�rÆ7� } Æ�Æ��Å� ¿ ��� � �H� ¿ �

θn
b ���F��Æ���Æ

NQw



�r� �M��� }Qq �r���;� � } ���H����� � ��Æ � � � qÀ} 
�� q ��� ¿ � � � �F�rÆ��©� � �Ð� � ¿ � � � }Qq �F� ÆrÁF�F�Q�p�M� � �rÆ�Æ }Q� � qÅ�� � qÅq � � ��� ¿ � �M�`�MÆ�� }Qq �Å� � � � } Æ ��� ¿ � � ÃF� ��jlk¬X �{ÃF� � � �FÆ ���H�
N = 1

} ÃF�H�%
 q �J� � ¿ � � � }Qq �M�� } � �Q� qÅ� � �r� � �i� �F�r� ���F� � �Ð�ÅÆ©�F� ¿�} � 
U�l� � �r� ��� � � � �H�FÆ � � �M� ���H� " q � � � 
 } �FÃFÆ} �MÃ } Æ�Æ�� � �M�����H� b z.L j ��Æ } �M� � �B} ��� � }Qq�q�� Æ } ����Æ � � Ã � N.L��tk � � � ���Q� � Á²�Å��ÃM� � � �FÆ ���H�
N > 1

���i��ÆW�F�Q�©�/�H� � �rq � }Â� � � } � ÁÔ�F� }Q�©} ÃF�Q�%
 q �7� � ¿ � � � }Qq �F�ÂÁ �H�M� � } � � �MÃ¸� � �Æ � � �Q� �'
 ��} � � �F�rÆ 
�� � } �FÆ��
θ
��Æ } �H� � � � � 	 � }Qq �F� Ã{� }Q��}Q� �l� � �`b Æ��r� � LOK��Àjlk¬m �F� � � � � � �QÁb z.L j ��Æ } �H� � � ÆZ� � �H� ¿��¯} � �M� �¯} � � � }Qq�} Æ Æ�� � �M�����H� � �F� � �+�ÅÆW�F� � Æ�� � }QqÅqÅ� �F�Â� �H� � �� � q �/� } ���]����ÃF� � � �MÆ����Q�

N > 1
k

�������	�
��� � ��
 � �����5� @ +�� � / +$6@� .�� +$. .>�=@(3;6=3;.#3#+$? � +$. + u0
ε ∈ H1(RN)

+$2 @ 0 )
.>�=@ ) 0�2 �

u0
ε(x) = ψn

(x

ε
, θn
)

e2iπ
θ
n
·x

ε v0
1(x) + ψn+1

(x

ε
, θn
)

e2iπ
θ
n
·x

ε v0
2(x),

btzHNHj
! 3;.>�

v0
1 , v

0
2 ∈ H1(RN) �  �=@ � 0�? � .#350�6 0 ) + � /(,�+$6 '/@ ! 2:3;.#. @/6 + �

uε(t, x) = ei
λn(θn)t

ε2 e2iπ
θ
n
·x

ε vε(t, x),
btzQw�j

!8�=@/2 @
vε
.�! 0�< � ,�+$?�@ , 0�6�1$@/2 2-@ � � . 2 0�652$?4) .10 ψn(y, θn)v1(t, x)+ψn+1(y, θ

n)v2(t, x) %3 � @ � % � 6=3 ) 0�2 � ?4) 0�6 , 0 � 7 +-,/.�.#3 � @�3;6=.1@/2�1�+$? � 3;6 R+ %
lim
ε→0

∫

RN

∣

∣

∣
vε(t, x) − ψn

(x

ε
, θn
)

v1(t, x) − ψn+1

(x

ε
, θn
)

v2(t, x)
∣

∣

∣

2

dx = 0,
btzÂx�j

+$6@�
(v1, v2) ∈ C

(

(0, T );L2(RN)2
) 3 � .>�=@ � 6=3 � � @ � 0�? � . 350�6 0 )�.>�=@��=0 � 0&2-@/6=3�4�@&�

� ,��-2 �*�$3;652-@/2 � ) � . @ � 0 ) . ! 0(@
� � +$. 350�6 �


















i
∂v1

∂t
−
ÃF���

(A∗
n∇v1) + d∗11(x) v1 + d∗12(x) v2 = 0

3;6
RN × (0, T )

i
∂v2

∂t
−
ÃF��� (

A∗
n+1∇v2

)

+ d∗21(x) v1 + d∗22(x) v2 = 0
3;6

RN × (0, T )

(v1, v2)(t = 0, x) = (v0
1, v

0
2)(x)

3;6
RN , b zHzHj

! 3;.>�
A∗
n = 1

8π2∇θ∇θλn(θ
n) % A∗

n+1 = 1
8π2∇θ∇θλn+1(θ

n)
+$6@�

(

d∗11(x) d∗12(x)
d∗21(x) d∗22(x)

)

=

∫

TN

d(x, y)

(

ψn(y)ψn(y) ψn(y)ψn+1(y)

ψn+1(y)ψn(y) ψn+1(y)ψn+1(y)

)

dy.
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� �
� ���:���:�B� ���	�$�5� � ��
	� X ��� � � ÃF� � �Å� ¿Ð} Æ � ���F�r� � �
vε
ÃF� � �F�rÃ 
 �

vε(t, x) = uε(t, x)e
−i

λn(θn)t

ε2 e−2iπ θ
n
·x

ε ,

� �F� � � Æ } � �ÅÆ � �rÆ{���F�ÐÆ }Q� � } � � ��� � �f� ÆZ� � �B} ��� Æ } Æ
uε
Á } �FÃ } �F� q�� ��� ¿�RJ� �Q�U�HÆ �Å�����H�N.k�w ÁF���F� � ��� � �ÅÆ ��Æ }�q � � ���

v∗(t, x, y) ∈ L2
(

(0, T ) × RN ;H1(TN)
) Æ � � �'��� } � Án�M���� } Æ �%
FÆ��r���F� � � �QÁ

vε
} �FÃ

ε∇vε
� � � 	 Æ � }Qq � � �H� �H� ��¿ �|� �

v∗
} �FÃ

∇yv
∗ Á � � Æ���� � � ���H� q��Hk

� ��� � � � � � � � � � � � q � �Å� qÅ�'bZLOj 
 � � �F� � � � � q � ��� �H��� � ¿�} � ��� �
ε2φ(t, x,

x

ε
)ei

λn(θn)t

ε2 e2iπ
θ
n
·x

ε

� �F� � �
φ(t, x, y)

��Æ } Æ � � �Q� �@��� Æ � � �F� � � �Å�H��ÃF� � �F� Ã �H�
[0, T ) × RN × TN

Á � �Å� �� � � � }Q� ��Æ �F�F��� � �Ð���
[0, T ) × RN k8X ��� � ¿H� } � ��� ¿ 
 � � }Â� � Æ } �MÃ!� } Æ�Æ��Å� ¿ � � � �F�� � � 	 Æ � }Qq � q � � �Å� � ��� q ÃFÆ;���F� � }Â� � } � ���Q� }Qq~� � ��� � qÀ} �����H�¯� �

−(
ÃF���

y + 2iπθ)
(

A(y)(∇y + 2iπθ)v∗
)

+ c(y)v∗ = λn(θ
n)v∗

���
T
N .

Y �Å� � �
λn(θ

n) = λn+1(θ
n)
��Æ]� �½� � q ����� q � � �Å� �¯N Án� �M� � �{� � �ÅÆ �]� � �¯Æ � }QqÀ}Q�p� �F� � � �Å�H�FÆ

v1(t, x), v2(t, x) ∈ L2
(

(0, T ) × RN
) Æ � � � ��� } �

v∗(t, x, y) = v1(t, x)ψn(y, θ
n) + v2(t, x)ψn+1(y, θ

n).
b zQv�j

� ��� � 	�� � � � � � � � � � q ����� q�� b L j 
 � � �F� � � � � q � ��� �H� � � ¿�} ���{� �
Ψε = ei

λn(θn)t

ε2 e2iπ
θ
n
·x

ε

(

ψn(
x

ε
, θn)φ1(t, x) + ψn+1(

x

ε
, θn)φ2(t, x)

+ε
N
∑

k=1

(

∂φ1

∂xk
(t, x)ζ1

k(
x

ε
) +

∂φ2

∂xk
(t, x)ζ2

k(
x

ε
)

)

)

� �F� � �
φ1, φ2

}Q� �g� � �SÆ � � �Q���¯� �rÆ � � �M� � �����H�FÆ � �Å��� � � � � }Q� �;Æ �F�F��� � � ���
[0, T )×

RN
Á } �FÃ

ζ1
k(y)

�ÅÆ � �F��Æ � q �M�����H�B� �pb LOv�j`� ��� �
ψn
�Å�@� �F� � � ¿ ���p� } �FÃ Æ ��ÃF� b�� �rÆ���� �/	�����H� qÅ� Á

ζ2
k(y)

� �Å� �
ψn+1

jlkJh �Q� �]� � } � } �|���F��Æ`�U�Q����� � �gÆ � � �H� ¿QqÅ� �FÆ �?� �M� } Æ Æ�� � � 	�����H�Ð�H�¯���F�WÆ � � �Q���F�F� Æ Æ � � � �F�?� � ¿ � � � �M� � �����H�FÆ`Æ��Å� � �
ζ1
k(y)

bd� � Æ �U� � � ���H� qÅ� Á
ζ2
k(y)
j�ÅÆSÃF� � �M� Ã } ÆS���F��� }Q� ��� }Qq ÃF� � ��� } � ���H��� �

ψn
bd� � Æ �U� � � ���H� qÅ� Á

ψn+1
jy� ��� � � �rÆ���� � ����

θk
k � ���Å��� � ¿Q� } ��� 
 � � }Q� ��Æ } �FÃ � ��� } Æ�Æ7���'� �F�¯� � � 	 Æ � }Qq � q � � �Å�©�MÆ���� ¿ � �F�Æ }Q� � }QqÅ¿ �B
 � }�} Æ]���@� �M��� � �.� � � �½m �F� � � � �3w.k�N.k � � }Qq Æ����FÆ �{���F��� � � �M� ¿ �H� }Âq �Å� �� � �H��� � � �

∫

TN

ψnψn+1 dy = 0,

NHz



���Ð�$
M� } �Å�
i

∫

RN

(

v0
1φ1(0) + v0

2φ2(0)
)

dx− i

∫ T

0

∫

RN

(

v1
∂φ1

∂t
+ v2

∂φ2

∂t

)

dt dx

−

∫ T

0

∫

RN

2
∑

p,q=1

A∗
pqvp · ∇∇φq dt dx

+

∫ T

0

∫

RN

∫

TN

d(ψnv1 + ψn+1v2)(ψnφ1 + ψn+1φ2) dt dx dy = 0,b z��Hj� �F� � �
A∗

11 = A∗
n

} �FÃ
A∗

22 = A∗
n+1

ÁnÃF� � �F� Ã 
 �¸btNQK�j Á } �FÃ
A∗

12

��ÆpÃM� � �F�rÃ 
 �
2 (A∗

12)jk =

∫

TN

(

Aψnej · ekψn+1 + Aψnek · ejψn+1

+Aψnej · (∇y − 2iπθn)ζ
2

k + Aψnek · (∇y − 2iπθn)ζ
2

j

−Aζ
2

k(∇y + 2iπθn)ψn · ej − Aζ
2

j(∇y + 2iπθn)ψn · ek

)

dy,b zQP�j� ��� � } Æ �.�Ð� �r� � � �p� � � � � qÀ}W� � �
A∗

21

kJe � � }Âq�q � � } �
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n = 1

8π2∇θ∇θλn(θ
n)

�� � } �FÆ �� � � �F� � � � � } � ��
F� q �Å� �Ä� �H�MÃF�Å�����H� � � � ��� } �����H� bZL��HjW� � � � �F�ÐÆ�� � �H�MÃ�ÃF� � ��� } �����Q�Ð� �

ψn
k;m �M��Æ � � � � } ����
F� q �Å� �Ð� �H�FÃF��� ���Q�Ä�ÅÆ]��
M� } ���F�rÃ 
 �Ä� � q � ��� qÅ� ��� ¿@bZL��Hj 
 �

ψn
} �FÃ� � �¯}Q� Ç���� ¿ � � } �

∫

TN

An(θ
n)χklψn dy =

∫

TN

χklAn(θn)ψn dy = 0


�� � } �FÆ��
An(θ

n)ψn = 0
k � � � ���Q� � Á~� �M�{Æ }Q� �©�F� q ÃMÆ]� � �F�©� �²� � � � q ����� q��'bZL��Hj 
 �

ψn+1
∫

TN

An(θ
n)χklψn+1 dy = 0


�� � } �FÆ��
An(θ

n)ψn+1 = 0
k|m �F� � � � � � �QÁ � �{ÃF� ÃF� � ��� � } � b zQP�j �ÅÆp� ���F��� }Qq � ���p� �

2 (A∗
12)lk =

∫

TN

1

4π2

∂2λn
∂θl∂θk

(θn)ψnψn+1 dy = 0


 � � � � �F� ¿ �H� }Qq �Å� � � �
ψn
} �FÃ

ψn+1
kfm ���FÆ
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12 = A∗

21 = 0
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